The matrix game is given as:
2 1 5 3
C =
1 3 4 0,5
Let’s consider the behavior of PLAYER A:
Z=X1+Xo — Mmin

(2X1 + X9 >V
X1 +3Xo 2V

.

X1 +4Xo 2V
3X1 +0,9%9 2 v
X120, X5 20.




Let’s exclude the game price and take new variables (step 1):




Let’s exclude the game price and take new variables (step 2):

F=p+pp — min
(2py + pp 21
pp+3po =1
Spp+4py 21
Spp+4py 21

-
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PL+ P2 =—
Vv

(P20, p220.



Let’s find optimal solution in
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‘Fmin | |

1 1 |=C30*$C$33+D30*$D$33
pl P2

0 0
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5 4 >= 1
3 0,5 >= 1

Fmin

1 1 0

pl p2

0 0

2 1 |=C47*$C$45+D47*$D$45

1 3 0[>= 1
5 4 0[>= 1
3 0,5 0l>=
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Let’s find v, x1 and x2:

1/v=pl+p2=

0,6

V=

12/3

Xi=pi * v

x1

X2

2/3

1/3

We can compare:

Xopr = (xlvx2)=

r—l

C
33

(units of money )



Let’s consider the behavior B:

Z=Y1+tY2+tY¥3+Ys — max
(2y1 + Yy +5y3 +3yg <v
y1+3y2 +4y3+05y, <v
<)'1+Y2+Y3+Y4=1

Y1 Y2, Y3, Y4 20.

Transform this system:

F=0+02+03+04 — max
(201 +0p +503 +30 <1
01 +302 +403+ 0,504 <1

1
Q1+QZ+CI3+Q4:;

01, 02,03, d4 = 0.



Let’s solve it in EXCEL

step 1 Fmax
OF 1 1 1 1
Variables ql q2 q3 q4d
0 0 0 0
2 1 5 3 <=
1 3 4 0,5 <=
28
29 step 2 ‘Fmax ‘ ‘
30 OF 1 1 1 1 ]=C30"‘$C$33+D30"‘SDS33+E33"‘5E535+F3D"‘$F$33
31
32 Variables ql q2 q3 qd
33 0 0 0 0
34
35 2 1 5 3 <=
36 1 3 4 0,5 <=
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29 step 2 Fmax
30 OF 1 1 1 1 0
31
32 Variables ql q2 q3 qd
33 0 0 0 0
34
35 2 1 5 3 0|<=
36 1 3 4 0,5 0|<=
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1/v = ql+q2+q3+qd = =63d

v= 12/3

yi=qi * v yl y2 y3 ya4

2/3 1/3 0 0

1/v=ql+q2+q3+qd = 3/5

v= 12/3

yi=qi * v yl y2 y3 ya
=C33*SM529 0 0

Fmax
OF 1 1 1 1 0,6
Variables ql q2 q3 qd
0,4 0,2 0 0
2 1 5 3 1<=
1 3 4 0,5 1|<=
Fmax
OF 1 1 1 1 0,6
Variables ql q2 q3 qd
0,4 0,2 0 0
2 1 5 3 1j<=
1 3 4 0,5 1i<=
Fmax
OF 1 1 1 1 0,6
Variables ql q2 q3 qd
0,4 0,2 0 0
2 1 5 3 1|<=
1 3 4 0,5 1j<=




1/v=ql+q2+q3+q4 = 0,6

V= 12/3

yi=qi * v yl y2 y3 ya
2/3 1/3 0

We can compare:
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